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SMART TEACHERS ASSOCIATION & WAY TO SUCCESS
SSLC MODEL PUBLIC EXAMINATION - 2019-20

SCIENCE / 9ifleflwied
Time Allowed : 15 min + 3 hrs Maximum Marks : 75
&m0 Sjenmey : 15 BblLb + 3 wewfl Qs HICUemIEET : 75
Instructions: (1) Check the question paper for | ofiapn: (1) Smaiss eleméssend siuns SFGLLSMS 2 6lensT
fairness of printing. If there is ST FALTTHSHKEOET6TToNOYD. SHFFHIILFGN6D GHemmuieHinie
any lack of fairness, inform the DEVB SIHTERILLITENLD 2 1L eviguites Giflelésebend.
Hall Supervisor immediately. (2) Beub Sievevg BB emouienen L GO sIRHINSHBEG
(2) Use Black or Blue ink to write. LWSTLGSHS  Geuemi BLD.
Note : This question paper contains four parts. | &l : Qeielamssrer BreIE LGHSHHMETS CBTEILHI.

PART -1 / ugd — |

Note :i) Answer all the questions. 12x1=12
ii) Choose the most suitable answer and write the code with the corresponding answer.

@Y : 1) SIWaHH MAIMTEHEHHGID el wielbHa|l.
i) Wseyd OuTmBSSLTEN elen ulenen BHIHOHBHHI DHeh GBHUIL_(BL6 elentulens sI(1QHIS.

1. When a person standing on spring balance, the reading on it is 65 kgf. If the man jumps off from
the balance, then the momentary reading in the balance will
a) first increases and decreases b) first decreases and increases
C) decreases d) no change
ameiT HITFed 10FH Hleiiml, QRHEUT Heo eTemLedW! FILUMISGWD Curdl, iFH 65 HA eendh  HT_HABSH.
S0l DbH HITFeT 15&H GHHHHIG CEmemngmbHTen, GHHBGID CUTH HITaH ST (B0 DieTOITENISH
) (WHeVe0 FBFHEGWD L6l GHOBULD ) (WPHeVleL GHMBUWLD LT6T I3 B bELD

) GdBUD ) LOTDBTLO6Y B(HEGLW
2. The SI Unit of electrical resistivity is .
a) Q b) Qm~1 c) Qm d) Qm2
WengHemL stemtemiien S| oiev@ .
B <) @b 157 ®) @b 1 w) @ib 1”7
3. isotope is used for the treatment of cancer.
a) Radio lodine b) Radio Carbon ¢) Radio Cobalt d) Radio Nickel
UBmIGmpTul FaFensulsd LweTUBL SHFluibs GFTGLTIL UGLD.
1) CrgBuir  1Buimgedt ) CrigBuium  smiTLIesT
@) Crg@uur GsmumsvL ) GrigBuwim mldesd
4. is an alloy of mercury with another metal.
a) oxide b) Noble gas c) Bauxite d) Amalgam
610G UTHIFHSBIL 681, 2 Beunsld CFJbheH SHevenaIUITEGLID.
) Y Hemen(h ) WhSH UTUSESH6T &) LUTHnFL ) GATFHH6VM6)

5. When pressure is increased at constant temperature, the solubility of gases in liquid
a) No change b) increases C) decreases d) No reaction
GUIUULL  Qerliuplemweoulled, DWHHHMH  IAHBFHGHLOUTH  BIWH P60  eurueller
SH6MIJ & M6ir .
Sl) DTBBLI6LENEY ) HBHHEIBH B GHOBHBSH ) ellener Es0emev
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6. The pH of a solution is 3. Its (OH") Hydroxide ion concentration is :
a) 1 x 10°M b) 3 M c) 1 x 10MMm d) 11 M
@@ sSmygeden PH gy 3 erafed, ipesi (OH) enaupi grdbenev® Suwiell GQansley erebieo?
o) 1x10°M o) 3M @) 1x101Mm m 11 M
7. The segments of leech are known as
a) Metameres (Somites) b) proglottids  c¢) Strobila d) All the above
DI ML UG 2 1 [3&6NTLMIb6IT 6160 DI ILIH S 613601
3 Gl Lrmolwiyser (BFremiol (Ha6iT) ) UByTalenm 19BaeiT
&) el _Gymiileom ) Eened DN HHILD
8. In heart, the Lubb sound is produced by the closing valve of .
a) Bicuspid, Tricuspid, Semilunar valves b) Tricuspid and bicuspid valves
c) Tricuspid and Semilunar valves d) Bicuspid and Semilunar valves
RHWSH S 60 QUTELEYBET LPBOUSHTEL ‘60L1" 61638 60l 2 6wIl_TaH 6B
) S, apelBHD, SMIFHIIY auTeOeyBeT  24) ApilBHL WBBID FHD euTe6)BsT
@) welHD OBBID DIMIFFHBHT GUTEL6HB6T F) FFGHID OBBID DDIFFHIAT AUTEL6)HEIT
9. Syngamy results in the formation of :
a) Zoospores b) Conidia c) Zygote d) Chlamydospores
FCHLOWT allen6eNaITey 2 (HeUTeIS .
3l) G eo6umyseit 1) OQBmeiliguim
) mFCHTL (HH(LPL ML) ) @lenmoGLmerd@uUm a6l
10. are segments in DNA which are responsible for the inheritance of a particular
phenotypic Character.
a) Locus b) Chromatin fibres c) Genes d) Alleles
@M GBUULL ussHCsTB®L Uiy SLSSUUGUSBGHS STTERIOTE 1961606006  LEHS)
PG LD.
o) Geursmerd 1) &CyTGLL 6T BenIpH6iT &) el F)  SI606560&H6IT
11. Cancers affected epithelial cells are called as .
a) Sarcomas b) Carcinomas ¢) lymphomas d) melanomas
eTLTHedulsd QFeLHem6NLI LITHHGD UBBIGHTUI 6160 DIMLPHBHLILIBLD.
) FrisGHTIOT 1) sTiFGeormiom ®) eVGumLDT ) GIoeu@erTLom
12. The Scratch editor has parts.
a) Two b) Three c¢) One d) Four
OOATTLF 6Tl LT UG BemeN OB mesi(BeiTeng.
21 Qe ) APyl &) @yl ) [BT6IIE
PART -1l / uggd - Il
Answer any seven questions (Q.No : 22 is compulsory) 7x2=14

slenaiBuenid 7 elameseEndsd ofenL wellbasaud (eflenm eewr : 22 &@ SLLTWIOTS LG 6vallbasalb).

13.

14.
15.

Why are traffic signals red in colour?
CuTEGITHHF mFend eMeNdGHEHen Fallll BBHHe0 DMSSLILIBHEUSHET STT6EmILD  6T6i60 ?
State Ohm’s law. @b &g - euenFWImI.
True or False (Correct the statement if it is false)
a) The velocity of sound is high in gases than liquids.
b) Waves created by Earth Quake are infrasonic.

sflwn? sHeumr? Heuml 6160 FnBBlens SHlHHDH 61(DSHIS.
3l) @alulel HengCausd FHyoumssmenall T SHeNed DIFHHLD.

1) Blev DHTalaiburgdl o HaT@GD DIeNe0EH6T GHBOMTES DIMEVH6IT UG LD.
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16.
17.

18.

19.

20.

21.
22.

Define — Atomicity. oigmisal B 66w - cusdIWIDI.

What is rust? Give the equation for formation of rust.

B 6T6ILIG| 6160607 HIH 2 (HUTGHHEN FLOILTL DL H([Hb.

Why are the rings of cartilages found in trachea of rabbit?

WPwedlell &auTgFd GLTUNEL GHHHOHIDL] 6UEHETUIMIGBET SHTeILILIBIEH 6J6dT 7
Define Triple fusion. apeflenemiey - euenyuwig.

The degenerated wing of a kiwi is an acquired character. Why is it an acquired character?
sl uBsHauulel FemHauedL bH BBHMBH6N @ OUBLILILL LWL, 66 g GUMLLIL L Liewr
6160 DIMIPSHBLILIBHSIBEI?

What are the importance of rainwater harvesting? wemipby G006 (PSS BHINBIBET WITen6u?
The hydroxide ion concentration of a solution is 1.0 x 101 M. What is the pH of the solution?
QM HMIFeIsd emamigTEmen® SiLeiFese) 1.0 X 10 Guomsd eafiso @imsir PH gy etsiren?

PART - Il / ugd — I

Answer any seven questions (Q.No : 32 is compulsory) 7x4=28
sleneuBuenid 7 elemissEnd@ alenLweflssab (allerm siewt : 32 H@ SLLTWILTS LS6eveTbHaW).

23.

24,

25.

26.

27.

28.

29.

30.

31.

Deduce the equation of force using Newton’s second law of motion.

alengule FoaTUTL DL Hlul L ededl SIewiLmbd ellgl epsold GHHed.

a) Write two advantages of LED TV over the normal TV.

b) An alloy of nickel and chromium is used as the heating element why?

o)) grprgent OHTenevssTl il Gulgenwiel. LED Gsrenevdast i1 Gl guiermsd eiu®id
[HEUIELOG6IT ST 6UIQEN6N  61(LDSISb.

1) HeHHeL BpId GErmiwd Hevbhd 2 Ceomsdssvensl WOGIFTT CeulIIGOBBID &FTHeTDTHL
LT SHLILIBGISH  6J601 7

The electronic configuration of metal A is 2, 8, 18, 1. The metal A when exposed to air and

moisture forms B a green layered compound. ‘A’ with con. H,SOs forms C and D along with

water. D is a gaseous compound. Find A, B, C, D.

@m 2 Geomsld A ullel eT6uHL JT6l UBMeL WU LID 2, 8, 18, 1 Y&GID. A il FIHSTHBBIL 6T

olewar e B etanid LFmFHB ULevbmsd o Hmaurd@Gd. A oLy HaSOs o et allensflbsl

C oBmip D ;3 2 maume@id. D eyeg eurwplensy @i sieisd A, B, C wimpid D sewn_nis.

Write notes on various factors affecting solubility.

HMIH MM UTHB@SGHID LIsvGeum Hmyemiiemnen LMK @Gl elen)sb.

Explain the types of double displacement reactions with examples.

@rienL QLUGUWITEFS elemenuis alendbemeT HSHhH 6IBHHIHHTL BLT 6il6mdHEHs.

Differentiate monocot root and dicot root.

RmelSHHmend HTaugCal wBBID SHelsHHenevd HTeugGeu] - GoumTHHMEN HHD.

Name the gaseous plant hormone. Describe its three different actions in plants.

QaumL [Hlemeouisd 2 6ftenn &Heuy ammCLoTeN 61517 HTEUTHIETND DG sTBl CFWLIEOLITHEHMET 6T(LDHIE.

Explain the types of chromosomes based on the position of centromere.

Ceen@ymolwiflesr Mewevdd gmuU &CrmCrT@ambEele lmBHMET Ol6THEHS.

With a neat labelled diagram explain the techniques involved in gene cloning.

oSet1 &Cenmerliil OHTIHEOBI LIGMBI UL HSHIL 60T el
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32. a) Calculate the amount of energy released when a radioactive substance undergoes fusion
and results in a mass defect of 2 Kg.
b) A mechanic unscrew a nut by applying a force of 140 N with a spanner of length 40 cm. What
should be the length of the spanner if a force of 40 N is applied to unscrew the same nut?
3l) 2 FF peopudLwl @ SHFWISHL QUTHENTEIH DamibHm Renemallss CuUTSHI,
Ceueflwm@ OTHsd UBBEN6VH HEmIH S (HSb.
o) Quipdlr uenllwmeni gmeut 40 M ewaliily Hembd 2 vl wl HHGESHBG Osmemh 140 N
alewg peold HmE& wemp  eqeiews  sBpIEpTi, 40 N ealeng Ostewit 246%H FHhG
LOMHMBUTENET HIPMM  6T6NIETR| B MBI CETewIL HHGHHGHBH CHemeu?

PART IV / ugg® — IV

Note 1. Answer all the questions. 3x7=21
2. Each question carries seven marks.
3. Draw diagram wherever necessary.

GUlY : 1. SwansHH NIMTbBHEHHGHID allenL UleNdbEa|LD.
2. e6Qeurh eleumalB@L 61D LHGLIEwIHET.

3. Gopemauwimenr @ _HiH6re0 LILID 66DIH.

33. a) Derive the Ideal gas equation.
b) State Rayleigh’s law of scattering.
Sl) HELEVIWIEOL] GUTUIF FLOGTUITL 1966  H(Ho.
1) 180 FHmev elglenuidh Fnmib.
(OR)
a) What is an echo? What are the medical applications of echo?
b) Write the features of natural and artificial radioactivity?
) 61HETTeV 6I6iIBIeL 6T6tTen? 61 ETTEIUN6H  LOHEHHIUIILIENET  FnBIH.
) QuIBME LOBEBILD QFWBME HHFUISHBHH6 LIHILIHN6T  61(LSISb.

34. a) Derive the relationship between Relative moleculer mass and vapour density.

b) Define Hydrated salt with an example.

) QLI (PeLbsaD HdBHGL Pl DL JHHEGD 2 6ten GQHTLLmear aumai.

) Berplw 2 1y — e1BHHIHHT_HL 6T eueDTUIN.

(OR)

a) What is called homologous series? Give any three of its characteristics?

b) The molecular formula of an alcohol is C4H100. The locant number of its -OH group is 2.
Draw its structural formula and give its IUPAC name.

SI) UgeIflend e16iimTe 6letien? Ligeuflend GFTLomIGBeen (OGTIBI LIGHILIGHMETH Fnilb.

) psusansreder cpeudsdaml euriiun® C4Hi90. oiglsd -OH 61 @Lstenr 2 eradfled, Sigein
siewoliy euriiur® wsmid ITUPAC GQuuwiflens s11p515.

35. a) With a neat labelled diagram explain the struture of neuron.
b) Why is the Sinoatrial node called the pacemaker of heart?
1) Buygrefel Semolisnull UL GHHIL 61 eleu.
) wFCam fld@eony seml Guerd GdHT 6Tl 6J6i  DHMIDSHBLILIGBSBEHI?
(OR)
a) Differentiate between Type-1 and Type-2 diabetes mellitus.
b) Why is Archaeopteryx considered to be a connecting link?
¢) What will happen if trees are cut down?
) aemd - 1 wBpId euemd - 2 Bflifle Crruisemen GeumiLIhHdis.
) UJSHSWTHOL fiderd Remewiti] 2 ulflwns egeir SmHSLULGHBEHI?
@) 1pRIGeT GQeul LILGHeISHNTe0 2 WL TEGHID eeneeydbsiT WTene?
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